Day 5 Answers

) 2%

Greater Depth

age 57)

hours

Besses o 5

20r55 | 37501475 4 | ¢

375

625 875 | 9375 [ 6

25
3) 3.75million

~ than 1.4million)

the evening and at work
55)

65%

1.375million (accept a value greater than 1.3 million but less

Ac more people amatworkdunng&udqsoﬁumm
viewers at 1 p.m. wnllbefewarhrmpiophmnlmmlﬁ

during the day or a similar euplmﬂmﬂ,

50% | 30%

6 i
1Trﬁur1742 or1??

or 17.1(42...)
For 1 mark:

17 or evidence of either a

long division method or short
division method with only one
error (carry figures must be
seen in a short division method)

Task 1 Task 2 Task 3
SATs Book Activities Arithmetic Problem Solving/ Reasoning
Developing/ Expected Task1
Gives a correct interpretation of the graph, eg:
Pg. 53 and 55 15 au - It is a straight line
- It goes up steadily
1 E 495 E - The angle of the line stays the same
- The gradient of the line is constant
Accept minimally acceptable explanation, eg:
17. 60 - ltis straight
« |t doesn’t bend
« ltis a diagonal
18. 0.0289 Task 2
4 (a) 4 km
50 + 25 + 17.50 + 22.50 + 11.25 = 88.75
£100 - £88.75 = wrong answer 19. 60 (B) 4-15pm
The answer is a specific time
20. 28152 M
21. For 2 marks: 2 M

(a) Gives an answer in the range 25 to 29 inclusive

(b) Gives an answer in the range 44 to 52 inclusive

Task 4

Indicates Mik and gives a correct explanation

eg

. 1 sandwich, 2 apples and 1 banana is missing from the graph and that is what Nik
had in his lunch box

. The graph shows the correct number of fruit bars and Nik is the only one who does
not have a fruit bar in his lunch box so his must be the missing one

- The totals from the table are 7, 6, 5. 6, and from the graph 6, 4, 4, 6, and the
difference is Nik
Accept minimally acceptable explanation

« 1 sandwich, 2 apples, 1 banana
«  because the number of fruit bars is correct

. 1 banana missing

. 7.6 5 GandB, 4, 4 6seen

Do not accept incorrect or incomplete explanation
eg

. 1 sandwich, 2 apples

. There are 6 fruit bars
= 2apples are missing
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